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Mr. Gmerek
Calculus

Problem Set 1.1

1. Sketch a (non-horizontal, non-vertical) line and find its slope.
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a. What do we know about parallel and perpendicular lines?
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b. What do we know about horizontal and vertical lines?
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¢. Write the equations for the horizontal and vertical lines that pass through the point (7, -5).
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2. Point-slope - Where does y—y, = m(x —x,) come from?
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a. Find the equation of the hne with a{qup&oiﬁLGf passes through the point (-3, 5).
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b. Find the equation of the line that passes through the points (1/2 3/4) and (8, (‘5)_,,_,/——&7
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c. Write an equation for the line through (-1, 2) that is:
i. parallel toy = 3x - 4. ii. perpendicular toy = 3x - 4.
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3. General Linear Equation: Ax +By=C.

a. What must be true about the general linear equation?
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b. Find the slope and y-intercept of 8x + By = 20 and sketch a graph.
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4. Freezing point: F = 32°0r C = 0°
Boiling Points: F = 212° or C = 100°

The relationship between Fahrenheit and Celsius is linear. Find the conversion equation.
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5. Find a regression curve for the data.

Year Cell phones (in
millions) exponcation] Teoressivg
1990 5.3
1992 76 ([ comdes do Haeo ﬂue'mdr}cms\
1995 1 ‘
1998 16
2000 24.1 Reclithically, anie Should be o logichic mede) s
2001 33.8
2002 44
2003 55.3
2004 69.2
2005 86
2006 109.5
2008 128.7

a. What types of regression curves exist?
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b. If the data represent the number of cell phones sold since 1990, how many projected sales will
there be in 2015?
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